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/ m=1.0; //BE \

c=1.0; J/F N
k=1.0; YIS
xgoal=1.0; //BEE
x=0; //ERTE Hb
v=0; [/BRIERE
dt=0.1; // %5l el B
xrecord =[]; //T—73EE 8k
for t=1:300,

a = (F - k*x - c*v)/m;

v = v+a*dt;

X = X+v*dt;

xrecord = [xrecord,x];
end

lot(xrecord); /
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// Draw initial figure

figure(1);

plot(xrecord(1),0,'0");

h_compound = gce();
h_compound.children.mark_size = 20;
h_compound.children.mark_background = 2;
h_axes = gca();

h_axes.data_bounds = [-1.5,-1.5;1.5,1.5];

// Animation Loop

i=1;

while i<=length(xrecord)
drawlater();
h_compound.children.data = [xrecord(i),0]; drawnow();
i=i+1;

sleep(10);
end
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(3#8) pythona— F

import matplotlib.pyplot as plt T A—Iq 8558

}mpor't math import matplotlib.pyplot as plt

import numpy as np import math

m=1.0 import numpy as np

c =1.90 import matplotlib.animation as animation
_ fig = plt.figure()

xgoal = 1.0 m=1.0

dt = 0.1 c=1.0
= k =1.0

x =0 xgoal = 1.0

v=20 dt = 0.1

time = np.arange(0,30.0,dt) |x =

record = list() v=20

. . . time = np.arange(0,30.0,dt)
for t in time: record = 1ist()

if(x<xgoal): for t in time:
F=1.0 if(x<xgoal):
else: F=l.0
else:
F=0.0 F=0.0
a = (F-k*x-c*v)/m a = (F-k*x-c*v)/m
v = v+ardt v = v+atdt
X = x+v¥dt X = x+v*dt
im = plt.plot(x,0,marker="0")
record.append(x) ims.append(im)
plt.plot(time,r*ecor‘d) ani = animation.Ar‘tistAnimation(Fig,ims,intervz;al::”fa)
plt.show() plt.show()

ON - OFF I

0 ey
>
m ——>F

0_............“‘.\\\.\“
0 50 100 150 200 250 300

time

FHEHDHIERIETEENTLVS:
(1 RDIREZXTRT,
(2)BHIENEEZRT
(S HNEEILSES

HEEFMETKAIZEIRLTLED
ZLKEELG/N—FDOIF7TEIHTES
M| D (F=FLERTYIREANTLND)




P Gl WAL R/l b

o il 11 D £ 1K PR -
(DR RDIREZRT,
(2)HHEDZEZRT
(BIHANZERILSES

%, [Ta—F/\yOFl{EI1ELD

P*'J 1&'1 O Xgoal
—
C |
AMA

R

*ON/OFFf=&EIRLTLEST-.
FEEH LGOI IIZELLIENIL...

«BR{EX, , LR EEXEDTZE JIZLEBILT:
HEMANIELNDTIE?
(Et 45l = Proportional)




PHIfld I al—Y 3y

Scilaba—F
[ m=1.0; //EE _/\/\/\,_
|
K

c=1.0; VI DA
k=1.0; YIAY S
xgoal=1.0; //BEE X 0.7
x=0; //REE ]
v=0; [/BRTERE] 0.6
dt=0.1; // B i s B 1
xrecord =[]; //EE 5% 051
0.4-
for t=1:300, 1
F= 0.3
a=(F-k*x-c*v)/m; |
v = v+a*dt; 0.27
X = X+v*dt; 1
xrecord = [xrecord,x]; o1 }
end 0O
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v=0; [/RTEERE 4] n
dt=0.1; // B el el b

xrecord =[; JREA | 2

for t=1:300, T T mm--------
F=10.0 * (xgoal-x); 0.8
a = (F- k*x - c*v)/m; |
v = v+a*dt; 0.6-

X = x+v*dt;

xrecord = [xrecord,x]; 0'45 '_L7537375\")ﬁ|3 \—Cllrlﬁ
end E#E{"E’(x 1.0)ISEL T

@t(xrecord); / T T T Tdo " ik do | 250
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xrecord =[]; //icEx A 1
0.085

for t=1:300,
F=0.1 * (xgoal-x);

v = v+a*dt;
X = x+v*dt;

end

@t(xrecord);

a=(F-k*x-c*v)/m;

xrecord = [xrecord,x];
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c=5.0; //F N
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xgoal=1.0; //B1E(E

x=0; //B1EH

v=0; //BREEE
dt=0.1; //BFfEfEMRE
xrecord =[;//T —43 % A
P=0.8; //PRL 53

1=0.05; //IFL %

for t=1:300,
p_seibun =
i_seibun= _
F=
a=(F - k*x - c*v)/m;
v = v+a*dt;
X = x+v*dt;
xrecord = [xrecord,x];
end

plot(xrecord);
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v = v+a*dt;
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xrecord = [xrecord,x];
end
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